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3.1 X20RT8001 ffi {41t &

Name Value Description
= yf X20RTE001
@ Function mode! reACTION Module operating mode
By _"" General
by @ Module supenvised off Service mode if there is no hardware module
g F reACTION - properties
-~y @ reACTION object Print Maric
-y @ Cycle time 2 reACTION cycle time [us]
@ Cycle counter off Counter for reACTION cycles
@ Min. cycle time off Readback cycle time of cument reACTION program
(= “ PAR datapoints PAR - parameter (max. 30)
1 @ Typeof PAR1 DINT Define cyclic X2X transfer for data point
iy @ Typeof PAR2 DINT Define cyclic ¥X2X transfer for data point
-y @ Typeof PAR3 DINT Define cyclic ¥X2X transfer for data point
@ Type of PAR 4 DINT Define cyclic ¥2X transfer for data point
ey DINT Define cyclic X2X transfer for data point
~ @ Typeof PARG Define cyclic X2X transfer for data poin
Sl ¥ RES datapoirts RES - result (max. 30)
fwy @ Typeof RES 1 off Define cycllc ¥2X transfer for data pmnt
- @ Typeof RES2 ansfer f
- " reACTION -function blocks Optmna\ cunﬁgurdlmn for speclal reACTION function blocks
B i |
3.2 X20RT8001 10 Wit
Channel Name Process Varable Data Type. TeskCass veme Smuste  SourceFle Descrpton [1]
@ [ModaieOk ] BOOL Mlodule status (1 = module present)
UDINT
UINT
UINT
UINT
Bo0L bt
B00L (sum bt
‘gPrintMarkCt.cmd R TEnable BOOL Automatic O [m] SPPC2100_.. Enable RT Engr
B00L
B0OL
Bo0L
B0OL
B0OL
B00L
‘gPrnthaCttcmd pritarkEnable DINT Automat O O SPPC2100_... parameter 01type UDINT
gPrntMatCt.par DINT Automat O O SPPCZ100_... pa e UDINT
gPrnthlafCi.per DOINT Automatic O O 5PPC2100, e UDINT
gPrntarkCi.par DINT Automat O O 5PPC2100) NT
@ PARIS RIS gPrintMatCH DINT Automat O [m] SPPCZ100_... parameter 01type UDINT
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riPar
3={Dphr Data
Simul
niComp_0
iCome [=]
3=Mode  StatusTsEdgePos|~ riMux_0
In1 Status) whux [ 6
In2 riVarWite,
VarRead_2
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riComp._1
iComp
218 niDout_0
—{int Status] riDout [=]
In2 il =in2 > 1 iAnd_0 3={Channel  Simull
5And =] 1=|Enable
Inl  OutfsEdgel= ’—-\r\
niCome In2 Ou ForceOn
3Mode SttwsTsEdgePos|~ 1=lin3 outif~ ~{ForceVal
In1 Statz] it
niVarfead_2_1 In2
nt <in2—>1
niComp_2
riComp [s5]
2147483657=|Mode  StatusTsEdgePos(~

Status
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gPrintMarkcerl
gPrintiarkcerl
gPrintiarkcerl

md RTEnsble = 1;

pazamecer
pazamecer
pazamecer

zeActionCysTine
nomingiode
prulndes

gezintiazkCezl

gPrintiarkCorl

pazameter.compTine = gRcpCorl.general printiarkCompTine;

L3 m - 1 machineline = 1 & giMI Unit.diNipDewnt 1 ex pruladex] s& gEMT Unit.didedeSel Tndexl)
TON(STON_PrintMarksn) ;
= TOM_PrintMazks:
gEzintderkCurl. pazemeter . vASE = )9hctbata printUnit. vASt [gPrintMarkCerl pazamerer .prulnden] * ( Time * 0.00L + 0.5;
Dat, Unit & Index] - vActOl - Index]) - Index] *1000.0;

grintMarkCorl paramever.ahcs =

gPrintMarkCerl paramever acvHalt

gAccData printUnic vAcs[gPrintMarkCerl paramever prulndex];
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2ea 1f(sTmage0ld != gRepUser.general.sImage)

e [

2ce o (prulndex = Dprulndess gRepFim mbERN;prulndemtt)
[

2ea ActDat Unit Indes] = 0

3
B sTmagedld = ghcpUser.general sTmage;

275 1% (gPrincMarkCerl parameter homingMode
276 ¢
277 o 0 Indes] = 0

1 ss ghevData.gens

220 1% (gActData printUnic

eral machineLine == 0)

wpata 1 1 es g 0

0 &5 gac

202 princunic

[pruTndes]

254 o Unic (prulndex] = 1;
285 . Unic ghceD:

gAccDaca printUnic. sAecTs:

sAcc[pruTndex] -

o 1.sTmage)

aca printUnic. shecTrigger®o

1 ggerPoszage [prulndex];

ghccData printUnic. sHomingTrigger [prulndex];

}
25¢ else if(sHomingTemp(prulndex] < 0)

vnic + gRepUzer 1. sImage;

o o s prulndex] o

300 +Dac: TUnit.sOffsesT [prulndex] tDat.

Unic - sRepUser 1.sImage;

303 gPrintMarkCrrl.pazameter.currentPos = ghctData.printUnit

< Index] *1000;

ELS 11

" * 1000;

o

a1 e1se

Tndex] = 1)

5Unit.sAct [prulndex] - ghctDasa.printinis.sHomingTrigger [prulndexl;

212 b

+ 0.5 4 0.001 ¢ gAccDaca printUnic.ahccl

1 er _pruladex]

Index] * 0.001;

215 gPzintMarkCrrl.pazameres . corpTines =

528 nextCycPos = gPrintMarkCorl parameter currentPos + (rcycT * gAc
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wData.printlinit.vAct[gPrintMarkGerl. parameser .prulndex] * 0.001)
325 tatuscycCount = 1.status. cycCount;

+ (0.5 * 0.000001 * ghetDas oo
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